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Note: 1) Answers may be in English or Hindi.

2) In the event of ambiguity, the English version shall be considered final
2) Unused papers of Answer sheet are to be crossed.
3) Mobile / Calculator / Pager not allowed.

4) Except Answers nothing to be written in Answer sheet.

HTIT - | (3 - 40)
Part — | (Marks — 40)

A. TFET off 15 AT AT g Y (15 37)
A. Solve any 15 (15 Marks)
1. A=Tat@a Aofr & 3ETar A« &1 g9m: 2,6,12,20,30, _ ?

a) 40 b) 42 c) 44 d) 46

1. Find the next number in the series: 2, 6,12, 20,30, __ ?

a) 40 b) 42 c) 44 d) 46
2. 0% e & f1FT %120 &1 18 et Fr frAa frasir gree
a)X1800  b)X2000 ¢) X2200 d) 2400

2. The cost of one ticket is £120. How much will 18 tickets cost?7

Y ¢
a) X1800 b) 22000 ¢) 2200 d) 2400 =5

3. A s & A fd 72 Rleer & A @8 2 "6 A fRae g 9w

a) 136 faRaY b) 144 et c) 148 oY d) 140 &Rl

3.1f a train travels at a speed of 72 km/h, how much distance will it cover in 2 hours?
a) 136 km b) 144 km c) 148 km d) 140 km

4 Rea we @ sy
“4.Fillin the blank:

T
;;? teacher very happy to see the students performing well.
o b) are c) was d) were
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JeE b FAR o) R e

Hawa Mahal is located at
: a) Jaipur b) Udaipur c) Delhi

6. 37X & GE Tt e A2
a) STATEATST AGE b) 8. FATER JHTPECA

d) Mysore

¢) 3. TStews WAIE d) ITeT @ETgY ATEAT

6. Who was the first President of India? ’ :

a) Jawaharlal Nehru b) Dr. Sarvepalli Radhakrishnan
c) Dr. Rajendra Prasad d) Lal Bahadur Shastri

7. g @ W as FEed Ry T S &2
a) 3P b)TRAT oW d) 3T AR

7. Which is the largest continent in the world by area?
a) Africa b) Asia c) Europe d) North America

8. Ul & THTI TS Toildh &7 &7
a) 0 b) H.0 c) CO; d) 03

8. What is the chemical symbol for water?
.a) 0 b) H.0 c) CO; d) 03

9.2ozsﬁ€mmwwmmaﬁaw
a) AlaTd ARIAT  b) TheT ATl c) AT AEAeT  d) FIifd oIl

- 9. Who won the 2025 Australian Open Men'’s Singles?

a) Novak Djokovic b) Rafael Nadal c) Daniil Medvedev d) Carlos Alcaraz

10. 51R # HeH odl Yo et FleT A &
3) BT § Hag b) IRTOTHT & Frearapardy
c)%agw#m@mﬁ d) ool & A1

10. Which is the longest railway line in India?
a) Howrah to Mumbai

; b) Varanasi to Kan '
¢) Dibrugarh to Kanyakumari yakumari

d) Delhi to Chennaj

.11.815711:{#341133?1‘&#%33‘??{??
a) Iy airerey b) HXer 9 o) e ey d) 3RTAE Fordarer

nt Railway Minister of India?

b
) Suresh Prabhy c) d) Arvind Kejriwal

11. Who is the curre
a) Piyush Goyal
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12. AR W & ey e gy A feua @
a) {E§ b) Mawar o) w8 Reelr o) Fre(E

12. Which city is the headquarters of Indian Railways?
a) Mumbai b) Kolkata ¢) New Delhi d) Bengaluru

13. 756 3T 489 & AT FAT {?

a) 1245 b) 1255 c) 1225 d) 1265
13. What is the sum of 756 and 489?
. a) 1245 b) 1255 c) 1225 d) 1265

14. 500 ST 15% FATR?
a) 60 b) 75 c) 80 d) 100

14. What is 15% of 500?
a) 60 b) 75 c) 80 d) 100

15. XA & TG R T 82
a) MW b) grefr LS d) AR

'15. What is the national animal of India?
a) Lion b) Elephant c) Tiger d) Peacock

16. 5@ # 3Tl HER FAT §R: A, C,E, G, _2?
a)l b)H c)J d) K

16. Which letter comes next in the series: A,C, E, G, __?
a)l b) H c)) d) K

B. fwfaf@d & g &9 o
B.

Write full forms of

(a) VAT (b) MTNL (c) MSEDCL (d) RBI (e) T
(f) DLW (g) UNO (h) NEERI (i) RRB (j) RRC
o P v @ st (R S Ot

L

Fill in the blanks (Any five)

RS 1 9gell AR WIge YAdC S HRAT argdea 7 &
India’s first woman fighter pilot in the Indian Air Force is

i FAAE #F HRA & Useufa § e
The current President of India is

W 2022 @1 Tsgrze WA ' A A gam
" The 2022 Commonwealth Games were held in

(05 37R)
(05 Marks)

(05 37eh)
(05 Marks)
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B |

avaer e A &

. S
. b W in a Nobel Prize was __ ——
iv. The first Indian to win
e & agen Yrd R, A AT % R
V. A &1 FEd a3 : tation in India, in terms of passenger traffic, is\&
V. Thefastest growing railway s T
. 3T S & & desh is
vi.  The current Chief Minister of Uttar Pra
: JaRey arEr &
Vi 3iafer # oTe are ggel SR JTANET —
vii. The first-ever Indian astronaut in space was
Jii. R & GEY 937 AGRONG FoAl 3cdEH Tod gl
viii.  India's largest renewable energy producer is .
x.  HRd & qE ofar g, Ol FeAqT ST FEr AT g, A Ry
iX. The longest bridge in India, named ‘Brahmaputra Bridge,” is located in .
X. TAATT FErT TeT HAT §
X. The current Union Minister of Railways is
D. AA (05 37)
D. Match the following: (05 Marks)
1.8 1 agell &1 a) BTaST Sl
1. First train of India a) Howrah Junction. ]
2. Bibi Ka Makbara b) 1853
NER: [5G g AT . e
3 F tB? 2 a';'f ; C)a'a HRI QWQH
. Firs _
g :,';t Train ¢) Vande Bharat Express
! 4.The longest traj i it m(aﬂim'ara)
X y :
m'fgtlon d) Sambhaji Nagar (Aurangabad)
5. The first Metro in India ‘e-)
B—— e) Kolkata ;__'__J
L —
E. FT '
"E. Write an €ssay on the topic " W ety o (05 37)
e Impact of Technologv on Education." (05 Marks)



Part = Il (Marks - 60)
(Solve Any three questions)

Q. 1 Write short notes on

a) Grounding

(Marks - 20)

b) Battery Charger
c) Nickel-Cadmium Battery
d) DC Motor

e) Induction motor

Q. 2 A Match the following —

(Marks - 10)

1. Induction Motor
2. Transformer

3. Rectifier

4. Voltmeter

5. Power Factor

6. Circuit Breaker

a. Cosine of Angle

b. Protection

c. High Voltage Protection
d. Frequency

e. Electrical Power

f. Commutator

7. Surge Arrester g. Hertz

8. Generator h. AC to AC
9. DC Motor i. ACto DC
10 Frequency j. Voltage

Q. 2 B Write the general operating ratings of the following electrical equipment —

(Marks - 10)
1 a) Electric Motor
~ b) Voltage Stabilizer
c) Distribution Transformer
d) Surge Protector
e) Refrigerator
f) LED Lights
g) Power Generator
h) Water Heater
i) Electric Fan
j) Bus Bar

Q. 3 Write short note on —

VA wN e

(Marks - 20)
Faraday’s Law of Induction

Types of Circuit Breakers

Principle of Operation of a Transformer

The Function of a Capacitor in a Circuit

Advantages and Disadvantages of DC Motors

Q. 4 Calculate -

e

(Marks - 20)

Find the total resistance in a parallel circuit with resistors of 4Q), 60, and 120Q).

Calculate the power consumed by a resistor with a resistance of 10 ohms when a
voltage of 200V is applied across it.

Find the current passing through a 5-ohm resistor when the applied voltage is 20V.

If three capacitors of 5uF, 10uF, and 20uF are connected in parallel, calculate the
total capacitance.
EE R
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10 3mgfer (Frequency) .
' o R e A -
q.zﬂﬁnﬁf@awmﬂa?m (37 - 10)

g) g deael 7) MW ) TAsSl ﬂl;iﬂ
) TTa FAE ) dlex gIeX ¥) gaaCE
ﬂ)waﬂmm G3id - 20)
um -
| GRTE & ST & fAEH |
3. mﬁﬂtwmm
s drdr At & et 3R gfAdr

2. gfFe g & PR
4 affe & FAfeT &1

¥. 4 AOTAT FY - (ﬁ-'zo)

1. @wq, 60,3ﬁ1120$tﬁwﬂ$mwmuﬁﬁgﬂqﬁmmﬁ

2.aau$200vamﬁ1ommmwmm?.ﬁ7w
aEeY gaT @d @i arell graw Y A0 . e

3.m20vwmmmM%,msna;m$mmﬂ
arell YT AT &Y.

4. afx &1 AR SPF, 104F, R 20pF FHIER &9 & S &, O T°
aTRAr & ITEAT Y,

o o ok o ok ok ok 6/6



